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Year 6 Spring 1 Maths Activity Mat 1 - Answers

Section 1 Section 2 Section 3
Order the following numbers from smallest to largest: Here are some estimated answers to some | | A farmer picks 237
calculations. Tick the reasonable estimates. | | apples. He packs them

494944 494404 449494 449 944 494 499 (7] 647 x 12+ 8000 i boses of 15 cppcs
ow  many  boses

4949 | 469944 | 496496 | 494499 | 494 944 /) 35 819 - 26 756+ 9000 can he fill from 237
357+ 6.+ 6015 much mors| | apples?
et Ta “6m
smal rgest 357 6% 50

Explain why any estimates are unreasonable. 15

Section 4

Simplify the following fractions:
Section 7 Section 8

Write a description of a | | Some children research children's favourite

square-based pyramid. | | fruit. They show the results in a pie chart

A square-based pyramid
has one square face and

Section 6 four triangular faces. The

Convert the following: ‘square face is at the base
of the shape. One triangle

04kg = 400g meets ach adg of the

1.7kg = 17009 square, and one edge of | | 30 children were asked about their favourite

each triangle meets the | | ¢ ¢ How many children chose each fruit?
adjacent edge of the next
triangle. The four mest at | | Apple| 12 |, Banana [ 6 |, orange|12
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